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Sub-math

Prepared by -Pranjali Patil
Ex-7.1

Q-1

Solution:

(i) Total number of parts = 4
Number of shaded parts = 2

=~ Fraction = 24

(i) Total number of parts =9
Number of shaded parts = 8

=~ Fraction = 89

(iii) Total number of parts = 8
Number of shaded parts = 4

=~ Fraction = 48

iv) Total number of parts = 4
Number of shaded parts = 1

=~ Fraction = 14

(v) Total number of parts =7
Number of shaded parts = 3

=~ Fraction = 37

(vi) Total number of parts = 12
Number of shaded parts = 3

=~ Fraction = 312

Solution:

(vii) Total number of parts = 10
Number of shaded parts = 10

=~ Fraction = 1010

(viii) Total number of parts =9
Number of shaded parts = 4

=~ Fraction = 49

(ix) Total number of parts = 8
Number of shaded parts = 4

=~ Fraction = 48
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(x) Total number of parts = 2
Number of shaded part =1

=~ Fraction = 12

Q-2 Solution:

(1) ! (ir)
i) = 1L
6

| .3
- {tv) —
(if1) w) 7

4
} —_
(v 5

Q-3

solution:

(a) Since the shaded part is not half.
=~ This is not 12.

(b) Since, the parts are not equal.

~ Shaded part is not 14 .

(c) Since, the part are not equal.

=~ Shaded part is not 34.

Question 4.

Solution:

Since, a day has 24 hours and we have 8 hours,
~ Required fraction = 824

Question 5.

Solution:

Since | hours = 60 minutes

~ Fraction of 40 minutes = 4060
Q-6

Solution:

(a) Arya has divided his sandwich into three equal parts.
So, each of them will get one part.

(b) Each one of them will receive 13 part.

Q-7

Solution:

Total number of dresses to be dyed = 30

Number of dresses finished = 20

~ Required fraction = 2030 = 23 Required fraction = 13

Q-8

6/Maths/L-7/term2 page no.1




Solution:

Natural numbers between 2 and 12 are;
2,3,4,5,6,7,8,9,10,11, 12

Number of given natural numbers = 11
Number of prime numbers =5

~ Required fraction = 511

Q-9

Solution:

Natural numbers from 102 to 113 are;
102,103,104,105,106, 107,108, 109,110, 111, 112,113
Total number of given natural numbers = 12

Prime numbers are 103, 107, 109, 113

= Number of prime numbers = 4

~ Required fraction = 412 = 13

Q-10

Solution:

Total number’of circles = 8

Number of circles having X’s in them = 4
Required fraction =48 = 12

Q-11

Solution:

Number of CDs bought by her from the market = 3

Number of CD’s received as gifts =5

=~ Total number of CDs=3+5=8

=~ Fraction of CD (bought) = 38 and the fraction of CDs (gifted) = 58

Ex 7.2 Class 6 Maths Question 1.

Solution:
wll34
i ey
A B C D E
-—F—————>»

1

6 1 2 3 4
4 4 4 4 4

We have divided the number line from 0 to 1 into four equal parts.

C represents 24 i,e., 12

B represents 14

D represents 34

and E represents 44 , i.e., 1.
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8 8 8 8 B 8 8 B 8
e

We have divided the number line from 0 to 1 into eight equal parts.
B represents 18

C represents 28

D represents 38

and H represents 78

238 4

From the above number line, we have

C represents 25

D represents 35

E represents 45

and | represents 85

Ex 7.2 Class 6 Maths Question 2.
Express the following as mixed fractions:
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Solution: T
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Ex 7.2 Class 6 Maths Question 3.
Express the following as improper fractions:

(ex) 7% (b)Y 5% (c) Zg
() 105;—* (e) 9% » 85
3 Twd+3 31 3 31
_—= T = T_ -
@7 4 4 4
(3] 5xT+6 41 G 41
5_ === 5‘_ = -
() 7 T T 7
5 2x6+5 17 5 17
2— = —— = — 2— = —
(e) 25 6 6 6 6
3 10x5+3 ha 53
g) 102 o 10x2Fs 958 3_58
(d) ; 5 - 10 5
3 9%7+3 66
(e:ll 9—- = = — g§=ﬁ
7 7 7 7 7
4 8x9+4 T8 4 76
8_ = = —_—
83 9 9 857
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Ex-7.3

Solution:
(a) (i) Shaded part = %
: 2 2—:—2_!
(i) Shaded part = ot
2 _3+3_1
(iif) Shaded part = T
: 4_4+4_1
(iv) Shaded part = b e

o All fractions are equivalent.

. 4_4+4_l
(b) (i) Shaded part= TR TYLr
i 3_3+3_1
(ii) Shaded part = et e
2 _2+2 1
(iii) Shaded part = S e
1
(iv) Shaded part = 3
6 6+3 2
(v) Shaded part = TR T

Since all the fractions in their simplest form are not equal.
=~ They are not equivalent fractions.

Ex 7.3 Class 6 Maths Question 2.
Write the fractions and pair up the equivalent fractions from each row.

() (h) (c)
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(el) (e)

(i) F14] (ifi)

(i) (v)
Solution:

1 R e
ERJE {b}ﬁ-ﬁf—g-ﬁ
3 33 1 2 242 1
© 593" 3 e
3
(e) =
fiim]
['}£—6+E—}. (,,}E_4+4_l
Y18 18+6 3 BT 8+a 2
{,,,}E_lﬂ-&‘l_E {}_.8__84-4_2
b i | b | 12 12+4 3
b 4+ 1
""16 16+4 4

The following pairs fractions:represent the equivalent fractions.
(@) and (ii) =12

(b) and (iv) = 23

(c) and (i) =13

(d)and (v) =14

(e) and (iii) = 34

Ex 7.3 Class 6 Maths Question 3.

Replace L in each of the following by the correct number:

2 8 5 10
'Ia'}? [ {}B u
.{C}§=E {d}ﬁ_ﬁ

5 20 ﬁ{}_l:l
{e}E—E

24 4
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Solution:

(a) Given that: E - 8

==
Tx8
=5 2xD='E’xB =» D 5 =28
2 8

J‘F

I
Bl
o |

=

(b) Given t‘hat:

oo o
I

= 5x| |=8x10

® ]

1
= |:|= 5ﬂ=lﬁ
5_ 10
8
. 3 L _
{c}Gwenthat.g =20 = 5x|:|—3><2{]'
= |:|=3x520=12
3
5 20
) 45
(d) Gweni.;hat: 50 = !% = 45 |:| =15 = 60
. D:154K5ﬁﬂ:2{}
45 15
5 " g
(E}Giventhat:g=9:>24:-<D=1Sx4
184
= []= 51 = °
18 _ 3]
24 4

Ex 7.3 Class 6 Maths Question 4.

Find the equivalent fraction of 35 having
(a) denominator 20

(b) numerator 9

(c) denominator 30

(d) numerator 27

Solution:

(a) Here, we require denominator 20.

Let N be the numerator of the fractions.

6/Maths/L-7/term2 page no.1




(=]

= HAxN=20=x3

S|z

L2 o

0x3
0
= The required fraction is 1220
(b) Here, we required numerator 9.
Let D be the denominator of the fraction.

Z

= =12

%=§ = 3=xD=9x5
9x5
= _—"—5-"-=]5

=~ The required fraction is 915.
(c) Here, we required denominator 30.
Let N be the numerator of the fraction.

N_3 o 5«N=3x30
30 5

= N=

=~ The required fraction is 1830.
(d) Here, we required numerator 27.
Let D be the denominator of the fraction.

27 3

— 3xD=5=27
D 5 x *
-~ D= 5‘\‘32?:45

=~ The required fraction is 2745.

Ex 7.3 Class 6 Maths Question 5.

Find the equivalent fraction of 3648 with
(a) numerator 9

(b) denominator 4

Solution:
(a) Given that numerator =9
9 36
D= 48 = D=x36=9x48
Ox 48
= = =
D 28 12

So, the equivalent fraction is 912,

(b) Given that denominator = 4

~N4=3648 = Nx48=4x36

= N =4x3648 =3

So, the equivalent fraction is 34 .

Ex 7.3 Class 6 Maths Question 6.

Check whether the given fractions are equivalent:
5 30 3 12 7 5

(a) 9' 5 (b) 10° 50 (c) 13’11
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Solution:

() 59 and 3054

We have 5 x 54 = 270

and 9 x 30 = 270

Here 5x54=9x30

=~ 59 and 3054 are equivalent fractions.

(b) 310 and 1250

We have 3 x 50 = 150

and 10 x 12 =120

Here 3 x50#10x 12

= 310 and 1250 are not equivalent fractions.
(c) 713 and 511

We have 7x11=77and 5x 13=65
Here 7x 11 #5x 13

~ 713 and 511 are not equivalent fractions.
Ex 7.3 Class 6 Maths Question 7.

Reduce the following fractions to simplest form:

48 150 84
(a) E (b) E (c) E
12 T
(d) 52 {e) 28

Solution:
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45
{a) 50

We have
48 =1,2,3,4,6,8,(12), 16,24, 48
60=1,2,3,4,5,6,10,(12), 15, 20, 30, 60
HCF = 12
48+12 4
S0 G0+12 " 5
48 4
H ==
ence, oo =
150
(b) ——
) 60
We have

150 = 1,2, 3, 5,6, 10, 15, 25, (30). 50, 75, 150
60=1,2,3,4,5,6,10, 12, 15, 20, (30), 60
HCF = 30
150+ 30 5§
% 60-30 " 2

We have
84=1,2 34,67, 12,, 21, 28, 42, 84
98 =1,2,7,(14), 49, 98

: HCF = 14

84+14
98 + 14

So,

Hence,

=13 =2

o i
98
(d)

12
52
We have 12=1,2,3,(4),6,12

52=1,2,(4), 13, 26, 52
HCF = 4
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e, 52+4 13

12 3

H?ence, =5 =13
{e}l —

Wehave'?_l @
28=1,2,4,(7), 14,28

HCF = 7
7+7 1
So. o8 71
7 1

H —_— =
eRee 98 T 4

Ex 7.3 Class 6 Maths Question 8.

Ramesh had 28 pencils, Sheelu had 50 pencils and Jamaal had 80 pencils. After 4 months, Ramesh
used up 10 pencils, Sheelu used up 25 pencils and Jamaal used up 40 pencils. What fraction did each
use up? Check if each has used up an equal fraction of her/his pencils.

Solution:

Ramesh used up 10 pencils out of 20 pencils.

10 1
Fraction = 2(} 2
Sheelu used up 25 pencils out of 50 pencils.
25 25+25 1
50 50+25 2

Jamaal used up 40 pencils out of 80 pencils.
40 4 1

. Fraction= —=—

80 8 2
Yes, each has used up an equal fractions, i.e., 12.
Ex 7.3 Class 6 Maths Question 9.
Match the equivalent fractions and write two more for each.
250
400
180

(i) 200 (b)
(iii) % (e)
(iv) % (d)
(v) % (e) ﬁ

Solution:

-, Fraction =

(i) (@)

o GO T B |- SN BD O b
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250
400
Factors of 250 =2x5=x5x5

Factors of 400 = 2 x[2 x 2 x 2[x 5 x 5

HCF=2%x5%5=>50

()

250+50 5
400+50 8
@{—}E or (i) « (d)
400 8
Two additional examples of equivalent fractions are
5 3,15 5 b5 25
@ g*37 9 ® %5~ 10
180
(1) 300

Factors of 180 = 2|x >< 3x3 xi
Factors of 200 —_Jx x 2 x b

HCF =2 =2 x5 =20

180+ 20 9
200+20 10
180

" 300 f_ﬂ- or (i1}« (e)

Two additional examples of equivalent fractions are
{aﬁi g 18 ®) BXB 27
1072 20 10 3 30
660
(iif) —— -

930
660+10 66

990+10 99
Factors of 66 = 2 xx 11

Factors of 99 =3 =|3|x 11
HCF=3x11=233

66+33 2
99+33 3
So, %Hg or (i) « (a)

Two additional examples of equivalent fractions are
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2 2 4 2 3 6
@3%%7% ©3%3%9
.. 180

'[IL'}E"SE
180+10 18
360+10 36

Factors of 18 =[2 x(31x(3!
Factors of 36 =2|x

HCF=2x3x3=18

18+18 1
36+18 2
So, % 5 or (i) e (e)
Two additional examples of equivalent fractions are
1 3 3 1 5
—_ === ) =X—=—
(a) 5 6 (b] 5% =10
220
1) —
©) 550
220+10 22
550+10 55
Factors of 22 = 2 NH
Factors of 55 = 5 x[11
HCF =11
22+11 B 2
55+11 5
220 2
—r—or(v)e (b
So, s © 5 or (V)& (2)
Two additional examples of equivalent fractions are
2 2 4 2 3 6
{a) =X ===— h) —x—=—
“5*97 10 ) 5*37 15

Fractions Class 6 Ex 7.4

Ex 7.4 Class 6 Maths Question 1.
Write shaded portion as fraction. Arrange them in ascending and descending order using correct sign

‘<t ‘=" > between the fractions.

*P P PP

(b)

(c) Show 24 , 46, 86 and 66 on the number line. Put appropriate signs between the fractions given.
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5 2 3 1— 6 8 5
sllg gl 6'—6’5D6

Solution:

(a) Total number of divisions = 8

(i) Number of shaded parts = 3

= Fraction = 38

(ii) Total number of divisions = 8

Number of shaded parts = 6

= Fraction = 68

(iii) Total number of divisions = 8

Number of shaded parts = 4

=~ Fraction =48

(iv) Total number of divisions = 8

Number of shaded part = 1

=~ Fraction = 18

Now the fractions are:

38, 68, 48 and 18 with same denominator.

4 6

i =g —<
Ascending order: 3°8°%
4

i 6
Descending order 8 > 3

(b)(i) Total number of divisions =9
Number of shaded parts = 8

=~ Fraction = 89

(ii) Total number of divisions =9
Number of shaded parts = 4

=~ Fraction = 49

(iii) Total number of divisions =9
Number of shaded parts = 3

=~ Fraction = 39

(iv) Total number of divisions =9
Number of shaded parts = 6

=~ Fraction = 69

=~ Fractions are 89, 49, 39, 69 with same denominator.

6 8

<

00| = |

3
>—>
8

Ascending order: — < —<

Descending order

w0 Ll
wl®m o | eh
0| e Pl
w0l Ll

ic) ,%,g and —

o | b

-1 0 2 4 6

5] 2 3 1 6 B8 5
Now ¢ 2] 5.5 B 05 <l & 505

Ex 7.4 Class 6 Maths Question 2.
Compare the fractions and put an appropriate sign.
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3 5 1 1
@z ] ® =[5

4 — b 3 3
{e) 5 \J 5 (d) 5 I:I =
Solution:

3 5]
(a) E g

Here, denominators of the two fractions are same and 3 < 5.
3 5
-2 T<] 2
5 <15

eirl

I_|4

Here, numerators of the fractions are same and 7 > 4.
1 1
ok
4 5
@[]z
Here, denominators of the two fractions are same and 4 < 5.
4 5
33
3 3
(d) g D 7
Here, numerators of the two fractions are same and 5 < 7.

3 3
B

Ex 7.4 Class 6 Maths Question 3.
Make five more such pairs and put appropriate signs.

Solution:
@22 ® 3
{cjgg‘ n:d};;-rg-
(e) % l—ﬁﬂ
Ex 7.4 Class 6 Maths Question 4.
Look at the figures and write *<’, or >’ ’=" between the given pairs of fractions.
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| |
0 1
1 1
1 s j
0 1 2
2 2 2
[ | I |
o 1 2 3
3 3 3 3
| | | | |
o 1 2 3 4
4 4 4 4 4
| | | | | |
o 1 2 3 4 5
5____ 5 a 5 b __5
T 7 1T
o 1 2 3 4 5 6
5] G 6 G G G (=]
1 1 3 2
2 2 6 3
f{:}EDE {d}gl:lg
5 5]
{EIIE |___| 5

Make five more such problems and solve them with your friends

Solution:
1 1

@z (<3 ()
2

{CJE EI

5]
EE}E

Make five more such problems yourself and solve them with your friends.

(d)

L N T
TS o
Lo lta ke

Ex 7.4 Class 6 Maths Question 5.
How quickly can you do this? Fill appropriate sign. ‘<‘, ‘=", >’

1 1 2 3 3 2
(QJEDS {b}ZDE iC}ED"E'
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w07 @i0f o]
w32 wg[J: o3
030%

Solution:

@3z [3

Wehave 1 x5=56and1x2=2

Here, 2 <5 .. %é
2 — 3
{E”ZDE

Wehave 2x6=12and 3 x4 =12

2 3
Here, 12=12 . — -
erg 4 IEI 6
a 2
@503
Wehave 3 x3=9and 2x5=10
3 2
Here, 9 <10 .. E 3
3 2
d) 2 =
@) 3 [ ] :

Wehave 3 x8=24and2x4=58

3 2
Here, 24 <8 .- 4—§
.3 6
@3 L3
Wehave 3 x5=15and 5x 6 =30

Here, 15 <30 .. g g
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7 3
nsls
Wehave 7Tx9=63and 3 x9 =27
7 3
Here, 63 <27 - — |>| =
ere < 9 9
1 2
@335

Wehave 1 xB8=8and 2x4=8

Here,8<8 .. EEE
(m% D%
We have 6 x 5 =30 and 10 x 4 = 40
Here, 30 < 42 .. % %
cs}g Dg

Wehave 3 x8=24and 4 » 7 =28

Here, 24 <28 .. %%

.5 15
We have 5 x 21 = 105 and 7 = 15 = 105
5] 15
I E . = = ==
Here, 105 < 105 . 7 21

Ex 7.4 Class 6 Maths Question 6.
The following fractions represent just three different numbers. Separate them into three groups of
equivalent fractions, by changing each one to its simplest form.

2 3 B8 16
(a) 12 (b) T (c) 50 () 100
10 15 12 16
(e) 60 if) 75 ig) El_j (h) 96
12 .12 3 4
(i) 75 i) 72 (k) 18 (1) o5
Solution:
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2 2+2 1 .
(ﬂ.)ﬁ=12+2—§ [+ HCF of 2 and 12 is 2]
3 3+3 1 .
(b) 5 -15.3 & [ HCF of 3 and 15 is 3]
8 8+2 4 .
(c) 50 " B0+2 28 [+ HCF of 8 and 50 is 2]
16 16:4 4

(d} = 4 = E [ H'DF ’Df lﬁ and
100 100+ 100 is 4]

@2 _10-10_1 . HCFof 10 and 60
60 60=10 6 is 10]

pB_1+15 1 HCFof 15 and 75
75 75+15 5 is 15]
12 12+12 1

&) == [-- HCF of 12 and 60
60 60-12 5 is 12)

(y 28 _16%16 1 OF of 16 and 96
96  96:16 6 is 16]

12 12+3 4
12 = 2 .- HOF of 12 and 75 is 3
@) 75 = 7573~ o5 | HOF of 12and 75 is 3]

12 12+12 1

() —= = =— [+ HCF of 12 and 72
3 3+3 1 .
{k}ﬁ=18+3_f3— [-- HCF of 3 and 18 is 3]
oL _ 4+l 4 HOFof4and 25is 1]

25 25+1 25
Now grouping the above fractions into equivalent fractions, we have

{f.j] E=E=E:EZE[EEE}I l:l
12 60 96 72 18 6
3 15 12 1
i) —=—=— each —
@) 15 =75 " 60 [ 5}
8 16 12 4
ii) —=—="—=— each —
@) 50=100 75" 25 [ 25]

Ex 7.4 Class 6 Maths Question 7.
Find answers to the following. Write and indicate how you solved them.
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5 4
Is — equal to =7
{a) 59 qu 5

(B) Is % equal to g?

4 16
'} Is — equal to —7
) 5 qu 20

{d} Is 1_- equal to i?
15

30
Solution:
5] 4
{ex) E and E

By cross-multiplying, we get
5x5=25and4x9=236
Since 25 # 36

5

4
. — iz not equal to —.
9 a 5

9 3]
{E?} E and §

By cross-multiplying, we get
9x9=8land 16 x5=80
Since 81 # 80

; 9, t al to E
16 15 not equ 9
4 16
— d —
(e) 5 an 20
By cross-multiplying, we get
4x20=80and5x 16 =80

Since 80 =80
' E is equal to E
"5 15 equ 20 °
1 4

By cross-multiplying, we get
1x30=30and4 x15=60

' l's.m:nt, .zaulmi
. 151 E{[l.l 30

Ex 7.4 Class 6 Maths Question 8.

Ila read 25 pages of a book containing 100 pages.
Lalita read 25 of the same book. Who read less?
Solution:

Ila reads 25 pages out of 100 pages.

. « 25 25+25 1

~ Fractions = 00 = 100+ 25 4
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Lalita reads 25 of the same book.

Comparing 14 and 25, we get

1x5=5and2x4=8

Since5<8

~14<25

Hence Ila reads less pages.

Ex 7.4 Class 6 Maths Question 9.

Rafig exercised for 36 of an hour, while Rohit exercised for 34 of an hour. Who exercised for a longer
time?

Solution:

Rafiq exercised for 36 of an hour.

Rohit exercised for 34 of an hour.

Comparing 36 and 34 , we get

3x4=12and 3x6=18

Since 12 <18

- 34> 36

Hence Rohit exercised for longer time.

Ex 7.4 Class 6 Maths Question 10.

In a class A of 25 students, 20 passed in first class, in another class B of 30 students, 24 passed in first
class. In which class was a greater fraction of students getting first class?
Solution:

In class A, 20 students passed in first class out of 25 students.

= Fraction of students getting first class

20 _ 20+ 5 a 4
T 95 25+5 5
In class B, 24 students passed in first class out of 30 students.
= Fraction of students getting first class

24 24+6 4
30 30+6 5
Comparing the two fractions, we get 45 = 45
Hence, both the class A and B have the same fractions.

Fractions Class 6 Ex 7.5

Ex 7.5 Class 6 Maths Question 1.
Write these fractions appropriately as additions or subtractions.

(a) s

(b) i

(c)|® © © 06 Ol |00 o
000 @ @ ol |0 6

Solution:
(a) The given figure represents the addition of
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o =

2
and 5
; o n 2 1+2 3
A T 5 ]
Thus the given diagrams can be represented as

0 i
+
e

3
5

(b) The given figure represents the difference between 1 and 35.

y 3 1 3 1x5-3x1 5-3 2

18, l-—-==-—-== = ==
a 1 & 5 b o

Thus, the given diagrams can be represented as

DL

(c) The given figure represents addition of 26 and 36.
2 3 2+3 b

—F— = ——=—

6 6 6 6

Thus, the given diagrams can be represented as

2

3]

i.é.,

0o o N cecol_|(oee
00 @ Q@ | @ 0O @
2 3 _ 5
6 il 6 = 6

Ex 7.5 Class 6 Maths Question 2.
Solve:
1 1 8 3
_+_ —— —
@ 8% 18 ©) 5*15
f ot 5 1 21
12 7 5 3
© 15 15 V3*s
2 3 1 0
1-—|1== Sy
(g) 3[ 3] (h) 4+4
12
4 g_12
() 5
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Solution:
1 1 1+1 2 2+2

(@) = +— daz
18 18 18 18 18:2 9

8 .3 8+3 11

®© 5* 155 15 1
e Ol 2
? 7° 7 7
21 1+21 22
(d) — =

.32 22 22 22

QF}E__T_M_E_*“f’_l
15 15 15 15 15+5 3

Ve Tl
ﬁa e
1_2(;-3).3_2_3-2_1
€ 731" "3)°373" 3 "3
10 1+0 1
—t—_—_—
e iy
@ 3-12_3_12_3x5-12x1 15-12 3
5 1 5 5 TRl

Ex 7.5 Class 6 Maths Question 3.

Shubham painted 23 of the wall space in his room. His sister Madhavi helped and painted 13 of the
wall space. How much did they paint together?

Solution:

Fraction of wall painted by Shubham = 23

Fraction of wall painted by Madhavi =

Fraction of wall painted by Shubham and Madhavi

2 1 _2+1_3
— 4 — =—=1

~3 3 3 3

Thus the fraction of wall painted by both =1

Ex 7.5 Class 6 Maths Question 4.

Fill in the missing fractions.

7 3 3 5
@ 5-L1=15 cmm—ﬁ-ﬁ
3 3 5 12
o045  @lg-2
Solution;
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{a)The difference between — an-::l D is —
. Missing fraction

7 3 7-3 4 4+2 2

5]

10 10 10 10 10+2

Thus, D=-2-

5
(&) The difference between D and — is o1
3 5+3 ]

. ) 5
Missing fraction = 21 2 1~ 21 ~ 31

8
Thus, [ |=—
us, [ | 51
(e} The difference between D and g is g
.. ) 3 3 3+3 6
oM fract: =—_—t—=—===1
issing fraction = =+ 2 5 5
Thus, [ | =1
5] 12
(d) Sum of [ ] and = is 2.

12 -
Mlssmg fraction = — ~ S5 _12-5_ 17

27 27 27 27
Thus, I:I =E;f

Ex 7.5 Class 6 Maths Question 5.

Javed was given 57 of a basket of oranges. What fraction of oranges was left in the basket?

Solution:

Fraction of basket of oranges = 57

Fraction of basket as a whole can be taken as 1.
=~ Fraction of basket of oranges left

5 1 5 1xT7-1x5

=1-2-=-2
71 7 7

_7-5_2

-7 9

Thus, the required fraction = 27 .

Fractions Class 6 Ex 7.6

Ex 7.6 Class 6 Maths Question 1.
Solve
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s L

3
(h) _Ij 15

le) —+

1
2
5
5
(h) 5

Lol

(k) 1— 3—

4 1
(n) E_E

Solution:
2 1

(Eﬂg =

1

2><:'?'+1><3_ 14f§

21 21
17
21

Hence, —+

ol ks
=1 =

7
(b) E.'-I_E
LCM of 10 and 15 = 30
3 7 3x3 Tx2
L —t—= +
10 15 10x3 15:-{2
3 723
10 15 3(]
4- 2 4x7+2x9
9 "i" 9xT Tx9
_+E 28 +18 _
63 63 63

4 2 48

Hence, §+$_ 63
5 1 5><3 1><7 15
@ T+3=7x3 a7 a1t a1

1 22

T 21

1x5

65
12+E

30

Hence,

(e) —

63

T

Hence, E
2x6

6

1_
6
17
~ 30

_4x3 2)(5
T B5x3 3x5
12 10

=115 15

6/Maths/L-7/term2

—
3]
—

+

4+

=
Colbe ik W

-
4+
- loo celbs =1]bs

+

W | = B3| =

2
4 3=
(h 3+

7

T21

9+14 23
30 30 30

46

3

1547 =§
21 21

_12+10_22
15
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Hence E+2—22
5 3 15

3_1_3x3 1x4 9 4

@ 3-1. _1x4 9-4_5
4 3 4x3 3x4 12 12 12 12

3 1 5
Hence,4—§—ﬁ
5 1
(h.’lg—g
LCMof6and 3=6
5 1 5x1 1x2
8 3 6x1 3Ix2
-5 2_5-2 _3_1
6 6 6 6 2
5 1 1
H , ——— ==
ence 6 3 32
3 1
() —4+—4+=—
D3tate
LCMof3,4and 2 =12
. E+E+l=2x4+3xﬁ+1xﬁ
3 4 2 8Bx4 4x3 2x6
=i+i+£=_._ﬁ+9+ﬁ=§
12 12 12 12 12
3 1 23
Hence, +Z+§ﬁ-1—
1 1 1
V3*3%%
LCMof2,3and6=6
. 1x3+1x2+1x1_§+g+l
" 2x3 3x2 1x6 6 6 6
=3_-'ﬂ=§—1
Hence l+1+l—1 ° °
"2 3 6
1 2 1 2 1 2
1=+3= = 1+= 244242
(k) 3++'?:3 1+3+3+3 4+3+3
1+2 3
=44+—— = 4+— = =
3 -|~3 4+1=5
1 2
1-+32 =
Hence, 3+33 5
2 1 2 1 2 1
I)4Z43= =442 . 242
() 3+ yy +3+3+4 4+3+3+4

,2x4 1x3 . 8 3

3x4 4x3 ' "127 12
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8+3 11 7 11
= T+—=T+—=-+—
12 12 1 1
_ '?><12+13<11_S4+11_%
12 To12 12
2 1 95
H 448> =—
ence, 3+ T
my 167 _16-7 _9
5 5 5 b
16 7 9
H ==
ence, 5 5 5
my 2_1_4x2 1x3 g 3 8-3 5
3 2 8x2 92%«3 6 6 6 6
4 1 5
H ———=—,
ence,ﬂ 278

Ex 7.6 Class 6 Maths Question 2.

Sarita bought 25 metre of ribbon and Lalita 34 metre of ribbon. What is the total length of the ribbon
they bought?

Solution:

Length of ribbon bought by Sarita = 25 metre

Length of ribbon bought by Lalita = 34 metre

=~ Length of ribbon bought by Sarita and Lalita

= % metre + % metre = [% + %) metre

= [M + HXSJmetrez(fmqr-lE] metre
bx4d 4x5 20 20

8+15 23
= - tT
[ 20 ]metre 20 metre

Hence, the required length = 2320 metre

Ex 7.6 Class 6 Maths Question 3.

Naina was given 112 piece of cake and Najma was given 113 piece of cake. Find the total amount of
cake was given to both of them.

Solution:

Piece of cake given to Naina = 1112

Piece of cake given to Najma = 1113
Piece of cake given to Naina and Najma

1 .1 1 1 1 1
S1o41 = 14—+1+-=1+1+=+~
273 g T3 T TIT S
= -+}}‘;3+1K%:2+§+g:2+E
2x3 3x2 6 6 6
5
=922
G

Hence the total amount of piece given to both = 256.
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Ex 7.6 Class 6 Maths Question 4.

Fill in the boxes:

oo

(a) -

1
() E_

Solution:

5 1
{a}[—g—z

T = =

(b)

| =

Here, missing number is 14 more than 58 .

—1 =

®| |-2=3

L1 5 2

5 1

_+_

B 4

Bxl+1lx2
8

H+2
8

0| =1 o) ~1

Here, missing number is 12 more than 15 .

Hence | =

{c}%— =

6/Maths/L-7/term2

1 1
_+_

5 2
1><2+ 1x5
dx2 2xb
2 5
—+—

10 10
245 7

10 10
7

10
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Here, missing number is 16 less than 12.

1 1
1 T 26
1x3 1x1
- - ZKB_E'K_]
3 1
= | = E—--
[ ] 3-1 2
- L1776 "6
i 1
- _1%3
| 1
Hence i_: =3

Ex 7.6 Class 6 Maths Question 5.
Complete the addition-subtraction box.

(@) ————» b —a—>
214 RN N
3| 3 213
112 111
3 3 3 4
Solution:
ey 2 4 2+4
H —+—=
(a) Addition: T Row 2t3 3
3 3+3 1
1 2 1+2 3
—+--=-—-—-—-=—=1
IlRowE 3 3 3
, 2 1 2-1 1
Subtraction: I Column; 373" =3
4 2 4-2 2
II Column: E_E = —"E
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Thus the box may be completed as follows:
e

@
@

1

] P P

@mlm colua

-

@]
(h) Addition: I Row:
1 1 1><3+1><2_3+2_5

_+_= —
2 3 3] 6 6
1 1 1x4+1=3 4+3 7
:_+_= = -_——
T Row: 5+ 12 12 12
Subtraction: I Column:
1 1 1x3-1x2 3-2 1
2 3 6 6 6
1 1 1xd-1x3 4-3 1
II Column: 374" T SETRRET
Thus, the box may be completed as follows:
T

Ex 7.6 Class 6 Maths Question 6.
A piece of wire 78 metre long broke into two pieces. One piece was 14 metre long. How long is the
other piece?
Solution:
Total length of the wire = 78 metre
Length of one piece of wire = 14 metre
=~ Length of the other piece = 78 — 14
LCMof8and4=8
e

®
. @

36

Hence, the length of the other piece = 58 metre.

Ex 7.6 Class 6 Maths Question 7.
Nandini’s house is 910 km from her school. She walked some distance and then took a bus for 12km

to reach the school. How far did she walk?
Solution:

| [ | s
oo |eaaofus

Ll
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Total distance from house to school = 910 km.
Distance travelled by Nandini by bus = 12 km
- Distance travelled by her on foot

9 1 9 1

=2 k-1 9 Lim
jo -G km= [lﬂ 2)

LCM of 10 and 2 = 10
_ (i_l]km [9x1 1:-(5]1{
10 2 10=x1 2=5

(73655

= 4 km = km
10 5

Hence, the distance travelled by her on foot = 25km.
Ex 7.6 Class 6 Maths Question 8.
Asha and Samuel have bookshelves of the same size partly filled with books. Asha’s shelf is 56 th full
and Samuel’s shelf is 25 th full. Whose bookshelf is more full? By what fraction?
Solution:
Asha’s shelf is 56 th full
and Samuel’s shelf is 25 th full
Comparing 56 and 25
LCMof 6 and 5 =230

- Dxd 25 nd 2%6 2x6 12

" 6x5 30 " 5x6 30

2
Henee, 25 > 12, So E is more than 5

Hence, Asha’s shelf is full more than Samuel’s shelf.

Now, 5.2 _25 12_25-12_13
6 5 30 30 30 30

Hence, 1330 th fraction is more full of Asha’s shelf.

Ex 7.6 Class 6 Maths Question 9.

Jaidev takes 215 minutes to walk across the school ground. Rahul takes 74 minutes to do the same.
Who takes less time and by what fraction?

Solution:

Jaidev takes 215 minutes 5

Rahul takes 274 minutes

Comparing 215 minutes and 74 minutes

1 _2.1_2x5 1x1 0 1
2= = 2+ +o= AL
5 5 1 5 1x5 5x1 5 5
1041 _11
T 5 5
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11 T
Now, the given fractions are z and —

4
11 4 44 T b 3b
—x=—=—and —x—=—
b 4 20 4 5 20
7 11
3H<dd . - < —.
Here, 35 < 2 < =

So, the time take to cover the same distance by Rahul is less than that of Jaidev.
11 7 44 35 44-35 9 .
= = = — minutes
5 4 20 20 20 20

Hence, Rahul takes 920 minutes less to across the school ground.
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